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: 

(i) 

(ii) 21 : 

(iii) 

(iv) (5 + 16) = 21 2 
(5 + 10) = 15 

(v) 

(vi) : 24 :

 (a) 5  

(b) 

(c) 

(d) /  

(vii) : 26 :  

 (a) 16  
(b) 10 

(c) 

(d) /    

IÊS> H$  $ 

(dñVw{ZîR> àH$ma Ho$ àíZ)  (24 A§H$) 

1. amoµOJma H$m¡eb na {XE JE 6 àíZm| _| go {H$Ýht 4 Ho$ CÎma Xr{OE &  4 1=4 

(i) gwaoe Zo EH$ 100 _r.  Am¡a EH$ nwañH$ma OrVm &  dh AnZo 
XmoñVm| Am¡a {ejH$m| H$s àe§gm go Iwe Wm & {ZåZ{b{IV _| go H$m¡Z-gm CgH$s àoaUm 
H$s Amoa Bemam H$a ahm h¡ ?     

 (A) Am§V[aH$ àoaUm  

 (B) ~mø àoaUm 

 (C) JhZ àoaUm  

 (D) ì`mnH$ àoaUm  



  

4-95 Page 3 P.T.O. 

General Instructions : 

(i) Please read the instructions carefully. 

(ii) This question paper consists of 21 questions in two Sections : Section A 
and Section B.  

(iii) Section A has Objective type questions, whereas Section B contains 
Subjective type questions.  

(iv) Out of the given (5 + 16) = 21 questions, a candidate has to answer  
(5 + 10) = 15 questions in the allotted (maximum) time of 2 hours.  

(v) All questions of a particular section must be attempted in the correct 
order. 

(vi) Section A  : Objective Type Questions (24 marks) :  
(a) This section has 5 questions.  
(b) There is no negative marking.  
(c) Do as per the instructions given.  
(d) Marks allotted are mentioned against each question/part.  

(vii) Section B : Subjective Type Questions (26 marks) :  
(a) This section has 16 questions.  
(b) A candidate has to do 10 questions.  
(c) Do as per the instructions given.  
(d) Marks allotted are mentioned against each question/part.   

Section A 

                                     (Objective Type Questions)                         (24 Marks)   

1. Answer any 4 out of the given 6 questions on Employability Skills.  4 1=4 

(i) Suresh participated in a 100 m race and won a prize.  He was 
happy with the appreciation of his friends and teachers. Which of 
the following is pointing to his motivation ? 

 (A) Internal motivation 

 (B) External motivation  

 (C) Intensive motivation 

 (D) Extensive motivation  
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(ii) gVV {dH$mg bú` (SDG) {dH${gV H$aZo dmbo g§JR>Z H$m Zm_ ~VmBE &  
 (A) g§ ẁº$ amîQ>́ (B) G-20 
 (C) {díd ~¢H$  (D) \$s\$m 

(iii) {H$gr ^mfm H$m Cn`moJ H$aHo$ g§dmX H$aZo _| Ag_W©Vm H$mo H$hm OmVm h¡ : 
 (A) emar[aH$ ~mYmE±  (B) ^mfmB© ~mYmE±   
 (C) nmañn[aH$ ~mYmE± (D) g§JR>ZmË_H$ ~mYmE±  

(iv) A§{V_ {H«$`m H$mo CbQ>Zo Ho$ {bE, Amn H§$ß ỳQ>a na {H$g em°Q>©H$Q> H§w$Or (shortcut 
key) H$m Cn`moJ H$a|Jo ? 

 (A) Ctrl + Z (B) Ctrl + V 
 (C) Ctrl + P (D) Ctrl + B 

(v) bm^ H$_mZm CÚ{_Vm H$m CÔoí` Zht h¡ &  
   (ghr `m µJbV)  

(vi) EH$ gwa{jV nmgdS>© ~ZmZo Ho$ {bE, Bg_| em{_b hmoZm Mm{hE : 
 (A) Ho$db {deof Aja 
 (B) Ho$db g§»`mE±  
 (C) , {deof Aja Am¡a g§»`mE±   
 (D) Ho$db N>moQ>o Aja  

2. {XE JE 6 àíZm| _| go {H$Ýht 5 Ho$ CÎma Xr{OE &  5 1=5 

(i) {ZåZ{b{IV _| go {H$g \$gb H$mo H$br H$s {
1000  1500 K§Q>o H$s R>§S>H$ H$s Amdí`H$Vm hmoVr h¡ ?    
(A) Am_ (B) Ho$bm  
(C) go~  (D) H$mOy  

(ii) Q>obr\$moZ, hoS>, {Z{\$Z, ~moda AnZmB© OmZo dmbr _hÎdnyU© à{ejU àUm{b`m± h¢ :   

(A) A§Jya _|  (B) nnrVm _|  

(C) Am_ _|  (D) Ho$bm _|  

(iii) nw§Ho$ga (ñQ>o_Z) ___________ H$m EH$ ^mJ h¡ &   

(A) \$b (B) \y$b  

(C) ŷ «U  (D) A§S>m 
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(ii) Name the organization which formulated the Sustainable 
Development Goals (SDG).  

 (A) United Nations (B) G-20 
 (C) World Bank  (D) FIFA 

(iii) The inability to communicate using a language is known as :  
 (A) Physical barriers  (B) Linguistic barriers   
 (C) Interpersonal barriers  (D) Organizational barriers 

(iv) To reverse the last action, which shortcut key will you use on the 
computer ?  

 (A) Ctrl + Z  (B) Ctrl + V 
 (C) Ctrl + P (D) Ctrl + B 

(v) To earn profit is not an aim of entrepreneurship.  
   (True or False)  

(vi) To create a secure password, one should include :   
 (A) Special characters only  
 (B) Numbers only 
 (C) Small and Capital letters, special characters and numbers 
 (D) Small letters only 

2. Answer any 5 out of the given 6 questions.  5 1=5 

(i) Which of the following crop requires 1000  1500 hours of winter 
chilling for breaking the bud dormancy ?     

 (A) Mango   (B) Banana  

 (C) Apple  (D) Cashewnut  

(ii) Telephone, Head, Kniffin, Bower are important training systems 
adopted in :  

 (A) Grapes   (B) Papaya  

 (C) Mango  (D) Banana  

(iii) Stamen is a part of ___________.  

 (A) Fruit   (B) Flower  

 (C) Embryo  (D) Egg  
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(iv) {ZåZ{b{IV _| go {H$go am°`b Oobr {IbmB© OmVr h¡ ?  

(A)   (B)   

(C) bmI H$sQ>  (D) S´>mo  

(v) ^maV H$s {VbhZr \$gb h¡ :   
(A) gagm|   (B) ~mOam   
(C) Johÿ± (D)  

(vi) Kr _| XÿY dgm H$m _______ hmoVm h¡ &  
(A) 80% (B) 99 5% 
(C) 69 5%  (D) 89 5%   

3. {XE JE 6 àíZm| _| go {H$Ýht 5 Ho$ CÎma Xr{OE &  5 1=5 

(i) _hÎdnyU© {H$ñ_| h¢ :  
(A) go~ H$s    (B) AZma H$s  
(C) MrHy$ H$s  (D) Am_ H$s  

(ii) Johÿ± _| qgMmB© H$s g~go _hÎdnyU© H«$m§{VH$ AdñWm h¡ :  
(A) H«$mCZ ê$Q> Ama§̂  (CRI) (B) Xoa go H$ëbo \y$Q>Zm  
(C) nwînZ  (D)  

(iii) nZra àmßV hmoVm h¡ __________ go &     
(A) lrI§S>    (B) Xhr   
(C) XÿY (D) ImoAm 

(iv) D$Om© H$s H$_r Ho$ H$maU hmo gH$Vm h¡ :  
(A) dgm H$m O_md  (B) dOZ H$s H$_r 
(C) H¡$pëg`_ H$m O_md (D) hm°_m}Zb {dH$mg 

(v) AmZwd§{eH$ ewÕVm g~go A{YH$ hmoVr h¡ ___________ _| &  
(A) à_m{UV ~rO  (B) AmYma ~rO 
(C) àOZH$ ~rO (D) n§OrH¥$V ~rO  

(vi) Oobr H$m g~go _hÎdnyU© KQ>H$ h¡ :  
(A)  (B) gwJ§Y 
(C) Z_H$ (D) nmZr  
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(iv) Which among the following is fed with Royal Jelly ?    

 (A) Worker bee   (B) Queen bee  

 (C) Lac insect  (D) Drone bee  

(v) Oilseed crop of India is :  

 (A) Mustard   (B) Bajra  

 (C) Wheat  (D) Maize  

(vi) Ghee contains _________ of milk fat.  

 (A) 80%   (B) 99·5%   

 (C) 69·5%   (D) 89·5%   

3. Answer any 5 out of the given 6 questions.  5 1=5 

(i) Dashehari, Langra, Chausa are important varieties of :  

 (A) Apple  (B) Pomegranate    

 (C) Chiku     (D) Mango    

(ii) Most important critical stage of irrigation in wheat is :    

 (A) CRI (B) Late tillering  

(C) Flowering  (D) Seed maturity   

(iii) Paneer is obtained from ___________.   

 (A) Srikhand  (B) Curd   

(C) Milk  (D) Khoa   

(iv) Energy deficiency can cause :   

 (A) Fat deposition  (B) Loss of weight  

 (C) Calcium deposition  (D) Hormonal development  

(v) Genetic purity is highest in :   

 (A) Certified seed   (B) Foundation seed   

 (C) Breeder seed  (D) Registered seed 

(vi) Most important component of Jelly is :  

 (A) Pectin  (B) Aroma 

 (C) Salt  (D) Water   
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4. {XE JE 6 àíZm| _| go {H$Ýht 5 Ho$ CÎma Xr{OE &  5 1=5 

(i) Amby H$s _hÎdnyU© {H$ñ_ h¡ :  
(A) nygm amo{hUr  
(B) àmBS> Am°µ\$ B§{S>`m 
(C) Hw$\$ar Xodm 
(D) na^Ur H«$m§{V 

(ii) AmBgH«$s_ Ho$ {Z_m©U Ho$ ~mX Bgo _________ Vmn_mZ na g§J«{hV {H$`m OmVm h¡ &   
(A)  5 C 
(B) 0 C 
(C)  25 C  
(D) gm_mÝ` Vmn  

(iii) CÞV {H$ñ_m| Ho$ AÀN>r JwUdÎmm ~rO go \
bJ^J   
(A) 10  15% 
(B) 20   25% 
(C) 30   35% 
(D) 5   10%  

(iv) OwJmbr H$aZo dmbo new AnZo ê$_oZ _| {ZåZ{b{IV {dQ>m{_Z H$m g§íbofU H$a gH$Vo 
h¢ :   
(A) {dQ>m{_Z A 
(B) {dQ>m{_Z B  
(C) {dQ>m{_Z C 
(D) {dQ>m{_Z D 

(v) HTST nmñVoarH$aU {d{Y Ho$ Xm¡amZ, Vmn_mZ Am¡a YmaU H$m g_` H«$_e: 
_________ Am¡a _________ hmoVm h¡ &  
(A) 71·6 C, 15 goH§$S>  
(B) 62·7 C, 30 {_ZQ> 
(C) 135 C, 1 goH§$S>  
(D) 100 C, 60 {_ZQ>  

(vi) {hÝXr _|, {MH$nr (Chickpea) H$mo bmoH${à` ê$n go H$hm OmVm h¡ : 
(A)  
(B) _y±J 
(C) MZm 
(D) _Q>a 



  

4-95 Page 9 P.T.O. 

4. Answer any 5 out of the given 6 questions.  5 1=5 

(i) Important variety of potato is :     
 (A) Pusa Rohini   
 (B) Pride of India 
 (C) Kufri Deva  
 (D) Parbhani Kranti    

(ii) After manufacture of ice-cream, it is stored at ______ temperature.   
(A)  5 C 
(B) 0 C 
(C)  25 C 

 (D) Room temperature    

(iii) Good quality seeds of improved varieties can increase the yield of a 
crop by about :   
(A) 10  15% 
(B) 20  25% 
(C) 30  35% 

 (D) 5  10% 

(iv) Ruminants can synthesize the following vitamin in their rumen :   
 (A) Vitamin A  
 (B) Vitamin B 
 (C) Vitamin C 
 (D)  Vitamin D 

(v) During HTST pasteurization method, the temperature and holding 
time is __________ and __________ respectively.  
(A) 71·6 C, 15 sec.  
(B) 62·7 C, 30 >min. 
(C) 135 C, 1 sec. 
(D) 100 C, 60 min. 

(vi) In Hindi, Chickpea is popularly known as :   
 (A) Urd  
 (B) Moong 
 (C) Chana 
 (D) Matar  
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5. {XE JE 6 àíZm| _| go {H$Ýht 5 Ho$ CÎma Xr{OE &  5 1=5 

(i) g^r _m§g CËnmXm| _|, g~go A{YH$ dgm H$s _mÌm eara Ho$ {H$g A§J _| nmB© OmVr 
h¡ ?  
(A) H$mZ  
(B) _pñVîH$ 
(C) gyAa H$s ny±N>  
(D) {ga> 

(ii) AS>gmbr Am¡a EH$gmbr \$gb H$m g§~§Y h¡ :   
(A) _Q>a go  
(B) JÞm go  
(C) H$nmg go  
(D) Mm` go  

(iii) \w$b H«$s_ XÿY _|, dgm __________ go H$_ Zht hmoZr Mm{hE &  
(A) 3%  
(B) 4% 
(C) 5% 
(D) 6% 

(iv) 
ewê$ {H$`m J`m Wm ?  
(A) {Xëbr   
(B) {_µOmoa_  
(C) ~§Jmb 
(D) bÔmI> 

(v) ^maV _| _w»` a~r AZmO H$s \$gb h¡ :   
(A) Joh±ÿ   
(B)  
(C) YmZ 
(D) ~mOam 

(vi) nZra H$mo {ZåZ{b{IV Ho$ AmYma na Za_, AY©-H$R>moa Am¡a H$R>moa nZra Ho$ ê$n _| 
dJuH¥$V {H$`m J`m h¡ :  
(A) nmofH$-VÎd H$s _mÌm   
(B) Z_r H$s _mÌm 
(C) dgm H$s _mÌm 
(D) MrZr H$s _mÌm 
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5. Answer any 5 out of the given 6 questions.  5 1=5 

(i) In all meat products, which body parts has highest fat content ?      
 (A) Ear   
 (B) Brain  
 (C) Pork tail  
 (D) Head   

(ii) Adsali and Eksali crop is related to :  
 (A) Pea   
 (B) Sugarcane  
 (C) Cotton  
 (D) Tea   

(iii) In full cream milk, fat should not be less than _________.  
 (A) 3% 
 (B) 4% 
 (C) 5% 
 (D) 6%  

(iv) In which of the following places in India was modern beekeeping 
first introduced ?   

 (A) Delhi   
 (B) Mizoram  
 (C) Bengal  
 (D) Ladakh   

(v) Main rabi cereal crop in India is :  
 (A) Wheat    
 (B) Maize   
 (C) Paddy  
 (D) Bajra    

(vi) Cheese are classified as soft, semi-hard and hard cheese on the 
basis of the following :  

 (A) Nutrient content   
 (B) Moisture content    
 (C) Fat content  
 (D) Sugar content  
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IÊS> I 
    ({df¶naH$ àH$ma Ho$ àíZ)    (26 A§H$) 

5 3 

20  30   3 2=6 

6. gVV {dH$mg H$mo g_PmBE &  

7. EH$ g\$b CÚ_r Ho$ {H$Ýht Xmo JwUm| H$s gyMr ~ZmBE &   

8.  ? {H$gr EH$ à_wI H$§ß ỳQ>a dm`ag H$m Zm_ ~VmBE &   

9. \ ? ?  

10. VZmd H$mo nhMmZZo Am¡a à~§{YV H$aZo Ho$ VrZ MaU {b{IE &    

6 4 20  30   4 2=8 

11. go~ H$s Mma _hÎdnyU© {H$ñ_| {b{IE &  

12. \$bm| go àmßV Mma _yë`-d{Y©V CËnmXm| Ho$ Zm_ ~VmBE &  

13.  (Saccharum) OrZg H$s Mma _hÎdnyU© àOm{V`m| Ho$ Zm_ {b{IE & 

14. {ZåZ{b{IV \$gbm| H$s àdY©Z {d{Y {b{IE :  
(a) A§Jya   
(b) go~ 

(c) ~¢JZ 
(d) JÞm 

15. gm_mÝ` AZwHy$bV_ n[apñW{V`m| _| CJmB© JB© {ZåZ{b{IV \$gbm| H$s ~rO Xa {b{IE :  
(a) Joh±ÿ   
(b) gagm| 

16. IÅ>o> g_yh go g§~§{YV {H$Ýht Mma \$bm| Ho$ Zm_ {b{IE &   



  

4-95 Page 13 P.T.O. 

Section B 

           (Subjective Type Questions)      (26 Marks) 

Answer any 3 out of the given 5 questions on Employability Skills. Answer each 

question in 20  30 words each.  3 2=6 

6. Explain sustainable development. 

7. List any two qualities of a successful entrepreneur.   

8. What are computer viruses ? Name any one major virus of computer.  

9. What is feedback ? Why is it an important part of communication ?   

10. Write three steps to identify and manage stress.    

Answer any 4 out of the given 6 questions in 20  30 words each.  4 2=8 

11. Write four important varieties of apple. 

12. Name four value added products obtained from fruits.  

13. Name four important species of genus Saccharum.  

14. Write propagation method of the following crops : 
(a) Grapes  
(b) Apple     
(c) Brinjal 
(d) Sugarcane    

15. Write the seed rate of the following crops grown under normal conditions : 
(a) Wheat   
(b) Mustard  

16. Write the name of any four fruits belonging to citrus group. 
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5 3 50  80   3 4=12 

17. ^maV _| ~oMo OmZo dmbo XÿY Ho$ {d{^Þ dJm] Am¡a àH$mam| Ho$ g§KQ>Z H$m dU©Z H$s{OE &  

18. amZrIoV amoJ H$m dU©Z {ZåZ{b{IV {~ÝXþAm| na H$s{OE :   
(a) amoJ CËnÞ H$aZo dmbm Ord   
(b) Am_Vm¡a na {H$g OmZda _| nm`m OmVm h¡  
(c) EH$ bjU 
(d) EH$ {Z §̀ÌU Cnm` 

19. J«m_rU ^maV _| ~m`moJ¡g Ho$ bm^m| H$s gyMr ~ZmBE &   

20. ~rO Am¡a AZmO _| A§Va ~VmBE &  

21.  ? ñd-namJU Am¡a na-namJU Ho$ ~rM A§Va ~VmBE &  
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Answer any 3 out of the given 5 questions in 50  80 words each. 3 4=12 

17. Describe the composition of various classes and types of milk sold in India. 

18. Describe Ranikhet disease on the following heads :  

(a) Disease causing organism  

(b) Commonly found in which animal     

(c) One symptom  

(d) One control measure   

19. List the benefits of biogas in rural India.   

20. Differentiate between Seed and Grain. 

21. What is pollination ? Differentiate between self-pollination and  
cross-pollination.   

 

  

 


